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1) 10g5(ﬁ»\5/§> = PO?
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v
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AN~ 108
6

AN = AR O T TR 2reTd BRI | - f5fd yaeq SR 20 67 Td 3.@SCR fapb
AP Y& *RTEG 29 | A7 T IR FNTOR TS GO | - ALK AT W JI-K FPRbpier
1|

3) 'q1 71 2T QP AN 2P BT A7?

T 2 T I A AT FAR AP = TS
WO,
1 APPI/ATE BT 2 = TR |



TN I TAZ = OF |

1 2{(q AT A = MG |
q1 A Forett 93| @3 = oo
1 27 T IR = TEo|

1 9 CNAT TR = TRPO |

4) Bkash Td AP SCTD (SRR 25T ITS IR 2

T ; - CRTRS 1P GRT GO GRA (03K ST A IR AP FNIABN AR
PPT | ORI, 2050 S BT AT NP AT FRAVT @RI 1P 516 I | BIb-
Q1T AL AT ARSI AR ATH- G |

5) IR (@1 (SR S TRO AL AT 1S G2 ?

—

) PERTSIK
2) znﬂwz%
3) I

v 4) aTQ%T’SITFB

6) TSRHoA Z5IR-

i) TS 1 D TOFAR AP BT T
ii) 200 BIPTT Yo% S5 2, SFo 2RI Yo BT
iii) Y0% TS ¢oo TR MR REFTIEN ¢do Tl

v1)i
2) ii
3) iii
4) i,ii,iii

AN : 5130 BB . B TSR0 B §) TS 1 R TOPAR 2BPT BT IR (S i) 200
TR 0% B0 I, FRo AT Y0 TIRIT Y0% Ff5 T Yoo TR H6 2 = Yo BT > TR
B 2 = 50/500 BT 200 TIRARI TG T = (50 x 300)/500 TRPT = X0 TIA i) 0% &G €00
TR ST RFTET @50 TIRPT 50% FACG T 500 BT T RPTes = (500 + 50) TPl =
550 TTT I S BT X NPT = 550/500 TIT FIFS ¢00 TpT T RBPTFT = 50 X
®o0/>00 BIPT = @O TIAT



7) T 210G, ATOT G — (A2 XA @1 IR @19 Ko ?

MY : T MG, 2ATOT G - TR <=0 I [ RO | PHPRD 2Tl POT TP ARR I
1 TR IR T oM TR BIP I R FHIRD | T, T I3 9100- Q IR I LAl
I3 | PRV ISP TRR P T QA PTG S FRCZ | PHIRCPA [od [efed 92 | )
A I[N N RNORF . TRFR TP | WEIS aF AT 3B 713 | (e (Far g4 ) I
G, TR TG, - SRR Y (1T o |(573 Qi )RR ercns) | <) s a1 @ [efs .
Ol 37| @ Refe . e offf $RE @1, & @1 2136d0 | 1) 981 17 Refe . @R @
(T 11 9) AR Q Refe . G o o | (I#) |

8) None of the students a car.

1) have

2) have got
v 3) has

4) own

A : Oxfordlearners Dictionary, Cliffs TOFEL, Cambridge 301 B¢ WqId, 1.
none + of the + singular noun + singular verb. 2. none + of the + plural
countable noun + plural verb. e, 53 4R IRIRB IAZ | &, Cambridge
dictionary Q< §09, - informal speaking U3 C$Ca (TIPS WAP AR none of JF 9K
plural verb J<KRIK & | - O, formal English  'none of' subject &= singular verb
JKRAIR A A | Ex: - None of that surprises me. - Indeed, none of his novels is
well shaped or well written. - None of the products have been tested on
animals and all the bottles are recyclable. (informal)

9) SRCET ZATRT ST @PTAD?



AT : TGS A5 SR AART ST | - TGS ST AP f51d A, T 71y F1 A
QYT M1 BT P, O3 JTT AREOR Ty SR /| - TROOTG 5T 712y g 72d Sy
I a1 TGS STEH IPRRTER- 5. o AXBTTE, IR, T, STE2A | 2. T 2R THRY
SITST1 O, TAGICTH SR ATPT G | 8. ITOTH JATTSH I (BT 58.8 BT R |

10) 50° IR “[F @I @A ?

AT ; TEHT S,
71D PR TSP 90° X BN I FRP (1T |
50° A7 9[F @19 =( 90° - 50°) = 40°

11) TR 2SS 2SS ATAR PICZ WSE |

1) The man comes to me by laugh.

2) The man came to me by laugh.
v 3) The man came to me laughing.

4) The man coming to me laugh.

I : AIBCO dI6CO, IO SO, PICO PMCO, J0JIH PP I WY present participle I
| 13, "(ETIRPTD SO IS0 WK PICZ, AT |" - ARG SH1OP 32H R TGa™ The man
came to me laughing.

12) The patient will soon.

1) come in

2) come off

v 3) come round
4) come by

T : Come round O AT ATG 71| B3 Context TIHE XAF81d Come round

IS IIPI AL T AP FH | Come round (F) G [ SRS
R T ; (V) AT SPHICPIR T 5 (57) AR QIS ;5 () TKKTST 1S AT 5 72al R
SNST , (8) TG ARSI IR T T 5129 31| Come in (F) ((ORIK ST T 3T : The
tides will soon come in. (Y) STCITPCATST 28T , (51) BT 23T , (T) (RFPT IO 579CF)
BIICE OF TR 5139 FT , (1) GG PEARPC BT 1% AT, (5) 11D 201 , Faosid
23T, (B) TR AR 5210 23T, (TN) BIPT AT T, BT AT | Come off (F) 5IDo
2T, () ST 1 Peyefs] 23T , (5) (IRG 7XF) WarsW 2391 , [deed 2o/ 3«11 Come by




something () G2 LI <M . His wealth was honestly come by. () (51 I
WO 2931) 23T . How did you come by the injury?

13) A1d 2R AP |

1) Rani draw a picture

2) Rani drew a picture

3) Rani is drawing a picture
v 4) Rani draws a picture

QAT ;"I 2R | - Q IR TR SR IGHE AT present indifinite tense ot
A2 | Present indifinite tense 13 G¥a subject - 3rd person singular number X
verb a3 1 s/es & A | Rani ARY QE 3rd person singular number R S5D
W™ A< - Rani draws a picture.

14) @ xy I3 Wz TOT TS SKARAT, PQ OICH (73 | @ La + £Lb a3 714 fawd
@A ?

P

1) 90°



2) 120°
v 3) 180°
4) 360°

M ; 2s BT xy 3R Wz JOT SIS SRR, PQ OICH (273 |
La+ £Lb=180°

15) What is the adjective of 'child'?

1) Childhood
2) childle

v 3) childish
4) Children

N— N N N

1A = Child (noun) - TSNS 1 TGS FAXIG ; P 1 AMAPT , (QIPICAT IR 24 T
@ai| Childhood (noun) - I , PR | Childly - (adjective) - Having the character
of a child; belonging, or appropriate, to a child. Childish (adjective) - IO
5911 Children (noun) - Child @< plural form.

16) The man is so weak that he cannot walk. (Simple)

v
2
3
4

The man is too weak to walk.

The man is so weak to walk.

The man is too weak for him to walk.
The man is so weak for him to walk

~— N N S

14 : Complex sentence W I so + adjective + that + subject + cannot/could
not + verb AP, GICF@ simple sentence 4 too + adjective + to + verb 1< base
form G|

17) Would you mind the window?

1) open

2) to open

3) to opening
v 4) opening

1 : Ko WgE 217 would you mind IR SFTCO IG7 3R WK structure : Would
you mind + verb + ing + 31 | WRK @Il I mind,can not help, could
not help, with a view to, look forward to, be used to, get used to, worth 3oy
XA PR I verb I5WE GR verb a3 3 ing & | 3[0A1R, 3P B8 1) opening



18) ARG QISR HILTH ‘PP -A7 ARSI TOT T2 -

AT+ ST ST T (PP A3 ARGDTO1 To2d HKE GRS | - HI GRS A7
SS)( T T “Mark Elliot Zuckerberg” TK O AR Y83 (7, Y»b8 A& | - Facebook
03 TR TG FTRCAD fofGd SIGe QISTISTITE | - 2000 NS TSRS IR
AERRGY YRPTAIAT SRS “CONaT” JICE A0 (ATsTe et | - 83 ran{ 2008 1
T5IT AT OF I | - (PP RS- AT MM, FIACPIT, S T |

19) WITER M 11K FCo! BT AP

1
v 2
3
4

If | would have the wings of a bird!

Had I the wings of a bird!

| wish that | would have the wings of a bird!
If I could fly like a bird!

N— N N N

AT 1 QTR T ATRR T STl AP’ IRFFOI SOP 3LE-S W™ I - - Would that |
had the wings of bird! W31 Had | the wings of a bird!

200a=vV3 + V2, a3+ 3a + 3al + a3 @RFAIo?

1) 8v2

2) 16v2

3) 18V3
v 4) 24V3



AT : O T,

a=v3++V2

1/a = 1/(V3 + V2)

1/a = 1(V3 - V2)/(V3 + V2)(V3 - V2)
l/a = (V3 - V2)/(V3)? - (V2)?

1l/a = (V3 -v2)/(3-2)

1l/a = (V3 -V2)
a+la=v3+VvV2++V3-v2=2V3
oM A™=a3 +3a +3al+a3
=a3 + 1/a3 + 3a + 31/a

= (a + 1/a)3 - 3.a.(1/a)(a + 1/a) + 3(a + 1/a)
=(2v3)3-0

=8 x 3vV3 = 24V3

21) 730 FRATK ISP 56, TR F4T 7307 TGS 3+ 1 W, TR F AN 1307 Srve fasa
@10 IJ?

T ; 4f,

O3B0 ST 3

TR SR X

2PIHCO,

3x + x =56

4x = 56

x =14

GPID AT = 42

W AT = 14

AT 7307 BRPeA= 42 x 14 = 588

22) 1+1/3+1/9+..... AR AU ¢ AR A PO?

v 1)121/81
2) 119/81
3) 81/121
4) -121/81



TN : AMG G0, 1+1/3+1/9+....., A% WD @R CTR1,TR 2T 2, a=1 I3 KT
WM, g=1/3<1, TR S SATGH FRK AL n SR 978, S= a. 1-q~n/ 1-q. 276
Erad G0 ¢fo #5369, S= 1. 1- (1/3)7°5/1-1/3= 121/81

23) SR BRI GO (T ?

v 1) QId

)
) ARG
)
)

N

O EGIGER
ANIGH

AT ;- SRR O S - TPTIY ST P AR - T A0 O ITATGT - ST
QAR G . @R

24) Only Rina can do this sum. (Negative)

1) Only Rina cannot do this sum.

2) Rina cannot do this sum.

v 3) None but Rina can do this sum

4) Any one but Rina can do this sum.

T : » Only M TG faoe T, Negative IR0 T Only W9 <IiRAS None but
3|« TR Only T I8 31 YRANP 0T I3, Negative I00 A Only R AR-S
Nothing but 31 » TR Only w3057 512431 3071 0141 $4c1, Negative I900 T Only
A3 “IfRICE Not more than I671 4T QY only e % et Facg R 51w
Negative form 7 - None but Rina can do this sum.

25) IR 208 I 1 8 TRFo-

AT ; - (O SHIYTAP 2 \3 TR TG Re@® “omKr oeiige” @& Srardd 21 - > J16
033 S| - A7 TR AGTRTAR PO SATAR TATANCS | - ST SRS (@ (O
ACE IEATCRT \3 B QY BT | 5 Td 2058 13 5RFTB §is 20fee | - U7 fofsema grod
P H8 TIRA 205V | - aff »,000 VIR TR TR fAfeG | - W3 @@ A AfSMma Yoo
ESTISTIG e TCATCAR STFTOT IACZ | IR 2, PR (GOTIRR B IRATCR TGRS
SR @ TRET | (IR0 WP 2TIRT SIRe a7 SRS G\3TT f5e d1, B3 (SOTHRIS
3P BB NI a1 (3T TG |



26) X2 - y2, (X + y)?, X2 + y? G 5.8 FO?

N
S N S~

-y

y
x2-y2) (3 +y?)
X-y)(x+y)?(x?-xy+y?)

X X

v

3
4

—_—~ o~

TN 2 YF IR = x2 - y2
= (X +y)x-y)

YA =(x + y)?

=X+ y)x +vy)

O TR =x3 + y3

= (X + y)(x? - xy +y?)
RIS =x +y

27) 3¢ : b RoiGo Wgoms @[iv?

by ¢

¢ :»

@R IR
» ¢

1)
v 2)
3)

)

N

AN : FAOTEG TGS : BT TGN #7\3 TG AR I TP Ok Tolere
TIFATS IeT W ¢ bd OIS0 TGS =ve :vbd=¢ : o

28) The correct spelling is-

1
2
v 3
4

humouros
humourious
humorous
humorious

N— N N N

T 1 58P I - Humorous. A3 QR - TP, SRS 5 TINED , IO, IO |

29) AXEZICSE SIS (AP @19 A 26 AT TW?

AT : ARG ST (AP 28 KA T AT BT 2 | - DO AT AT AGISE HI Ao A
S}, 1 TR I PR SIACD A0 X AT | - DG TRAT FH AXGICSCAHR AR AP 8% | -



3SR R TGS FRAE R AP T R e RBRE SERTOT I AP | - ST 3
MPRGR 21e AT AT, TTAXATAT \3 PTG BE AT SR I AT | - 367U HK @A
BRATCAR T STZATAICD ST S-S AT AR R AP | - SR PR B AN PR W
M=o SRR I | - BRECR ¥RAAT \3 (2Miod B AT SRITOT IR A | - TZTGI\3 SR N 5
WRPTE BATICR AROTER ) ARG ACF |

30) Vvm + 1/Vvm =2 X, vm - 1/Vm = 39?

vi1

w N

)0
) V2
) 2
) 4

I

AT =+ (T A2,

vm + 1/Vm =2

WET S,

(Vm - 1/¥Vm)? =(vVm + 1/¥m)? - 4.vm . (1/Vm)
=22-4

AN : - ey P sy #M1fers 27 ¢ gd | - P9 I ISy #f1fers 20 2 S| - 'Ry <raba sy
AMeTS 27 Q4 GLTH | - 'Reg N1 Fqst 11fets 27 23 716 | - "9 591 \3 2T 2ffomng sy
oMfeTs 20 YA T | - 'Ry a1 sy onfero 23 23 ufed |

32) 5¢0 U 50% I0?

1)5.¢

2) d¢o

3) Yo
v 4)>¢
I 2 d¢o I3 Y0%
=5¢0 g Y0/500
=3¢



33) IR IO A= T |

v 1) Bangladesh is a riverine country.
2) Bangladesh is a country of river.
3) Bangladesh is surrounded by river.
4) Bangladesh is situated by river.

AN : TR U7 3RS o™ T2 - Riverine. R S$F Wqam T2 - Bangladesh is a
riverine country.

34) 10 TR 23[R J7K S o)EO I TISIERK Twol 10v3 TR T, o[- SId
DTSR TRANS @17 36 [Bisy?

1) 90°
v 2) 60°
3) 45°
4) 30°

AT &

103

10



J7R 2% AB =10 R
BIOIIER B%ol BC = 10v3 o

ABAC @

tan6 = BC/AB
tan® = 10v3 /10
tand = V3

tanb = tan60°

8 = 60°

35) No sooner had the thief seen the police-

v 1) than he ran away
2) than he run away
3) than he had run away
4) when he run away

Y : 91T No sooner had ...... than, scarcely had ........... when , hardly had
........ when Y Q7 A R Past Perfect W3R Verb A< Past Participle 21 Q3. ¥
T Past Indefinite 20 1 B@&EW, no sooner ¥R than, scarcely A when,
hardly ¥ when WG - « REUD 5d 1408 21| @34 : No sooner had the thief
seen the police than he ran away. Hardly had the train stopped before we got
down. Scarcely had we started when it began to rain.

36) G NOK IO S T

v 1) He does not know how to swim
2) He does not know to swim
3) He donot knows how to swim
4) He cannot know to swim

74T : Sentence 0 Present Indefinite Tense 28R Subject ‘He’ (3rd person
singular number) Q3 Y does I3 |1 I know how Y verb in infinitive (to +
verb) 1 @4 :° Bill knows how to play tennis well. 379418, ﬂ%ﬁmﬁm@ - He
does not know how to swim.

37) 3T S (5RO (@1 (STl TRIFG?



AT ; - AARDT, O STH (51D bUSCH ORRD | - PAINSH RO AT ATRPRoT S (510 |
T, Baefs, 3a1a), TR 303 {6 FERTOIE TREG | - FAPIOT STGH (FP0 ATARNCD
TRIEO |

38) WM (@19 AP AJ ©f PIGH 397 oS3 P ?

AT : TRM XA @A I I I5AD 9P ST (AP T ORI AATBRS 31| - I5dR TGS
R ST 1 I TEISTG FARIGAR TWRM T O] I REDT | WR™ PO 73 ©I0sT st
A1 AR | T

- ATFHRP TR - ORI

WP R DRI ARSTD X1 2<% A2 1 2, WA AP SRR SRR B6 61 TR
OPF 1T 2 | O3 I TR O™ (@1 PR A O fIGd I O 39 |

39) @Td X104 @ICAT RIAT6P <9 2 1?2
1

N

) TS
)
v 3) IR
4) IR

AT : 7 X ANE BT @I 2P [T IR QTR [0 SRFERIBT X% I ({qd - PIRATS,
IR, TPOI, DT 3051 |
WIRK 57 <= OE. 1 @I FRHP QTR [0y ARIBTP XK I T& - Foid, JAQET, T

Zonf |

40) 9%t3 = 27*+1xd, x QI T 30?

AN

A W N R
1

UJLOw



[ : 9*F3 = 27x+1
- (32) X+3 — (33)x+1
— 32x+6 — 33x+3
=2X+6=3x+3
= 3X-2Xx=6-3
X =3

41) AR R SIER QPIUR TRBO?

AT : - IR KT QMR TTFR ASTRSTASE TR0 | - GO [ieTd \3 2 & Gad
G0 AT 5B | - THIAIST 2P KPR 2w i, Ypwe T a3 RT3 TR J1-C
BTSN RSd \3 i SR Saear I | - ARG WA [eed RPeT @ Beva
PRI BT TMCoE |

42) TS V0 BT A, D% G NPT 39?

T 2 5% IO

AT 500 TIPT e RPTFET = (500 + 3) = 553 TP

AT > TIPT T RIS = 553/500 BT

FIFS 00 TIPT A RPTF = (953 X 0€0)/500 TP = VR T

43) To err is human-

AT 2 Err OO 3711 33018 To err is human I3 J™ X - SN J1a3 O 3 |



44) IFF ARSI AT PO?

1) 20.01%

2) 21.01%

v 3)20.71%

4) 21.71%

AT : AYHXT WS AT 20.95% | - IFHX RIS G=0R SR e 515G | -
AT (%), TACTA (20%) IRFIXT 2ILTA SIS J1 GG SIEH 2R oY TUET I TANZ | -
AT % WP IR TCZ WIS (0.99%), FRA-GR-THBG (0.00%), fFd (0.0055%),
v, 3o, AAGITA, A 2efS | - IFAGT STITPHT G AT [Gab SISt Slst AT

TR | TYT- ST, SRR AR TP

45) STATCER dT BHEATTR (R AICLA?

46) TP FTGre) BT @I1760° X, WA @I 3972

v 1)30°
2) 120°
3) 40°
4) 0°

AT = A1 fTSCSR 90 FAPIT = 90°
T @19 = 60°

. 0T Q1= 180° - (90° + 60°)

= 180° - 150°

= 30°

47) a* = b, bY = ¢, cZ = a I, fAET @ TR 152

1) a = x/ayz

2) a = y/azx

3) b = x/cyz
v 4) a = a¥?
T 2 CRIT A2,

ax=b,by=c,cz=a



TN = XTIl HTAT - A W~ PG| TP I WS DA |
THIZA . TP ATHICR ITZ (AP IO [ AR TO3 T |

49) A to Z' I @1 WY IRTS T2 ?
1)51mf<1‘—rca

2) ST

3) N
4) a—f@m‘%

AT : A to Z' 9B 3G IERT | 97 WY - IR 13, A to Z' TIT ool aef
920 QR

50) “1=ed f5-20 Rrgp1o1 fFRCE It P ¢pT e facez?

ITAT 2 BB FAEARGP 2, T3 BT A0 AT TACZ | - 033 AT WA e o 20 Regpreon
W0 X[ DGR | - ST B-Crafs gt S foenrere iR AUa-K 5Rd 20
WG e |

51) PRELA] AT XTI @19 J?

1) o1



v 2) gl
3) SR
4) 1

AT : PHA W : - Q T RHTT 2REGA (AT XJOR fAFCE HAS SARK (WP BT T AWH
foR0d B[ iy« i \3 <1 ATsIcaR fowd facg #1F5a i 2R1fRe 20 | ook I
PGS (STl J4T T IRATTOT AR PR | A9 CNSATASTE PR TPF-2{C 1< feic
FIFANR (SR 745 T 216 T TGRSR 7R (AR S50 T | - 471 \3 530
THA AT BT QIR I \3 STGPHIT LT XN | TFAT - - TIHAABIRE (SR
MSTTASTET TG, TRECAR XM TAT dR 1T 7T 2R16 T CITOMAR FICZ, SR A fAfeTo
T 7T AT (IR R A2 WP 2RTMRG T | - PROORT \3 WAL THAR AL S | PN
R XTIRITFRT AL GCEPIIR X7t G |

52) (T TG sFT SIRIP 12T AT ?

1) A I 5F9CP
2) B I 5P
v 3) AB I PP
4) O T sPAD

AT : AB T PP TP sI20T I | - G (@R TG i [ifes aftcoar af3o
WIABRoR TR fofS I TGP (@ S0 55051 @IsT I TA(Z SICH ARG 5791 (Blood Group)
A | -ATG 559 BRI 1T - A, B, AB Q3R O | - AB-G SKGAd s30T Q3% O-@ SRAGAId 7ot
I | -ATT 559 FCQBE T ({0 R IE (@0 TP AT (FFEE Rh I3
TABRS-TgEioa Bor fofs 3| - T e T e @ize ider ‘Rh agftatsd’
T RO TAMIE AP, TR P ARG G 59 2SS | - ‘Rh ASDEATSA” J1 Y0 051
S (SIS A |

53) TSN (PTd STAIH BHIAT?

AT : BT ORRTGR SR SARA |

o I SRRICIICST foo¥ STHIC I SRR DA AT AP DK OIP DRRING &I 0 |
o ST WY TRITGR ST 2

ORR T =G oRom,

AR ST =B,

XA = GO, SI2F T /570= BTz



54) What have you bought? (Passive)

1
2
3

va

What are bought by you?

What is bought by you?

What are being bought by you?
What has been bought by you?

~— N N S

T : I interrogative sentence I What it ©F 20 O/ passive voice- 4
PI3I A structure A : what + auxiliary verb + verb Q< past participle + by
+ sub?. QATE active voice I3 sentence U present perfect tense « YT passive
voice a3 sentence f0 \3 present perfect tense 4 X | 51, AT AR S
passive form X< - What has been bought by you?

55) TG UK I AP AORT T2

1) VIR + T[J
2) V3IF + O
v 3) VIR + O)
4) VI® +3

T 1 "Y' 2AORT Q0T 1O X1 V3G, + O = TG, vV + O = HIY 300 |

56) TIOIT FROCAICY AT TP AR ?

1) ¢

2) ufb
v 3)4f®

4) 5%
AT 2 AT SIORI RO STGIR TRIFO | A3 BTG YRR TP SO0 | Ao
AT STOT0 PR “RIER Sy FROICH Tetp 57T Al 14T TACZ | SR SCET T -
YHER SR TR WCHET | - Y98 FNEW JETD fa1bd ; - Yy FER XA W 5 -

YHLR FER P TS | - S SER B TPT TIHIT 5 - dDbid R ST 38 -
Y% FER F2d TNToT % |

57) (2'1+51) -1 @3 19 $0?

1)7

v 2)10/7
3)3
4) 7/10



I {(1/2 )+ (1/5)} -1
={(5 + 2)/10} -1
=(7/10) - 1

= 1/(7/10)

=1 x (10/7)

= 10/7

58) TG (2 WA |'- I AT’ (T PREP (T [ohs?

1) B 9&

2) ICH

v 3) SO A
4) semicd gt

AT 2 A A OF151 PR A1, AGAT, ST 307 P T O ( FRFS AT G SFA1d
PRSP A | I8 -3 TG IRE | ST AT Q ROTTF oD ST PRI SR
LGN

- QAT PV AT A, - SANOCD 5T A3, - THSCA R I |

59) Y93 S IR RO @ Ty [UITo-

AT : - AT G FRACE AU o1 AT O] WA | - ST WA T47 s amerfer
IO BTHY TG | - SR WHTER SJa9M8 T 984 IS IR FOT8 A% 1 I
DR AT |

60) "IN AL ¥ T @TAD?

v i

N

W
oAl
fIal
gafd

)
)
3)
4)
AN o ST X STALS X7 . I5EAT, 9dd, P9, W, Afnfs, w=ar, Befo, «(3), <1, «@fd,
4faY, I7ARs, i, 56 4R, © 3onf |

o "R TR WY - ST | o R - 51T, O, 131G, k[, Js1, b, <P, s, TR,

AR, P |



61) &1 I sTo@Te QGZ?

v 1) Did he come yesterday?
2) Did he came yesterday?
3) Had he come yesterday?

4) Has he come yesterday?

AT : T I AT TSI B3 B - "7 SToTeT ATKE 1" OTRee FS3 1 I «ff past
indifinite tense JAMHz | i€, U 3:W& T He came yestreday. 1¥d I IRFILE
LPIRTGP P12, AR, "5 P STOPTeT ArskR?" - ASI Il 2 OIS IRMIL 7f auxiliary
verb 2571 did T T W3R did @Y past form a1 Fcz B2 came - verb T @w
past form « U a1, Te, present form (come) 5K I3 | STOATL, SIP TGIM XA -
Did he come yesterday?

62) AT~ SRS PIAD A ?

TN = IS0 JITIRTDT = 20 ST | o TINAT 2 RO \3 HaRw TGsts! @1ef (o @
AT 2, B AT G 2FY ST | - 03 STHICH AFHNCR Y AT 2 | - RORF @1y omam

B FY A SHIAT : F3UCP AT = F3YATY (@AP Gl = (BA-GeIdl HR ARG =
HIHRTNG AR (UG = LTACAD AR IS = IS (ST AT = (STATSAT STCE. AT = ST
ORI T = DDA |

63) AP 2 % X, €00 TP 8 I JARPT 07

AT = 500 TIPS IR FATPT br BT D DIPIR D IR FARPT b/>00 BIPT €00 BIPK 8 IR
FARPT (b x €00 x 8)/500 TIPT = SWo BT

64) All love flower. (Interrogative)

v 1) Who does not love flower?
2) Who do not love flower?
3) Who did not love flower?



4) Do all love flower?

14N : Everybody/everyone/all I IR sub 2 B Q@ interrogative IR e
who+ Doesn’t/didn’t + Verb 1< base form 201 Q3R Affirmative IP
interrogative 3R S negative ICO 3 | JORT1R, IRPILA NP interrogative form
X<- Who does not love flower?

65) (BT AT FIF?
v 1)59

2) w3t
) ST
) Roed

A W

AN = » T (ROT)) - AR = @Y . @ TS T SR 3 AT I, OGRARIP | TR,
o A (TR, ROT) - TR < QY . A10AT 9T @ A8 O\ | o [P (Reagar) - ke <=
WY . AR (R AT, R[oesT STREI |

66) FIR SRICAT TR TSRO Tk PT 2?

1) effoperd

v 2) AfsRfd

3) afos

4) 2ARSTRF
AT : ARSRIT SR TR STORT AT FT | - @I XTH B (A ¥ T A BT @1
2Tod et ATee AW WRK IR <R SER PG R W, ©4d G 01 ARG Ol 1,
R A3 SRS X Afx/fd e | - afowfd e Ty gerrfd @ afowfd e sw<d!
SR AMAFT 0.5 GRS 23T ATS | XA ATKRIAE BICS AN TIER ST T FT
| JAGICEIA AT QP IFCE A RIS T X7 3R AR F0e7 SR 34T fgoe@
AT\3T A | 2AFKRTAR IARRTR- ., FReeTe] e widy fdaty 2. Riftea | <icew @1 fadea

O, 2TOEAT ATCOR FY fATT 8. FOTRP WS R FAC0 ARTRIT IR AT W ¢ T
STOIRGT fAMT IR CFCA |

67) 120 SHART *R~17 S50 T, ST AN T A2
v 1) TRY

2) ST (@3
) 12

) 92>

q

W



AT ; - R0 TR I L @19 [HCO (2% AR a1 - 30 TR ATOTATG S
ST S 7 Reqcs @ 3300 2@ | - 7370 THARRAT 2R7IE B9 Wofon I T &A1 730
T2y o fafero 23| it STRAEAR B9}k TR Q50 SR Aoifow e SRl 130
0P T TR | AF 9 CRFCa T NI “MOT TR | ACHA , W ) 3P B6d |

68) "NOIT XN SIS S [vew @1aft?

1) 998 + 9@
2) 08 + JJY
3) 0 + 9
v 4) 99 + JF3

AT 2 OB X S5 F Koo 70 + Fpafb eoifag Twreder| 5@ - Qal+a/d = & a3
XA ORGP BHIRAT : - W0 = TU+7 - G-+ 0P = B - H+PIT= H2qT

69) IR IO B (IR SRR d Food JEoN5?

70) What is the meaning of 'white elephant"?

1) An elephant of white colour

2) A black marketer

v 3) A very costly or troublesome possession
4) A hoarder

4T : White elephant English Meaning: something that has cost a lot of
money but has no useful purpose. Bangla Meaning: 73! g (58d PG a1 AFd
Ex. Sentence: This is a white elephant department of the government.
Bangla Meaning: SRPTEA 3 K151 @Il STSW3 a1 TG IR (S7%0d AP BTpT 45 X0 |

71) This collar is too limp 13 W

1) I3 TR TG X1

2) 3 IR BT USTACH
v 3) 13 IR I FE

4) 43 IR I8 76



72) AT SO 517G SIS 9GP @2

AT & o AT ST 57O SIS oGP Led AFY G |

- 2fFY BT RRORP ZadT B IR |

- 'R TN BIF A bieo Jifore e 53|

- b Y03 I AU CROI AIPR APTO 27|

- oY BTSN STAAR APTRO SIS ATIPT (d»58) beTo i oot 7o it 11etd I |

AT : FCHQ' XTI NEICOZ- §5 + WO

o & RIATHRA T @IAT 051 DA ATV RG] 217 (T AT 057K (T W ATT 3 T
TR K BT R T2 Oy /i, (T > @), T SEeT 99 |id (1), QN IS
RS R () RBAT (T Tvedter 3% AGRAT () TR 2 TR AT <K g
AT TOIRO 2 | I + AT = I TG + TF = TGIF B + ibd = BAAIoA B + 15T =
BT B +3I%d = BIRd B8 + A% = T

74) 91 IR0 A1 (2n o7 A2

AT = J1ET SR TG 31 @% 57 Yo o)
YT . - I, - NPT, - ARG, - 2P 53, - Py 53, - 213w d - BT, - (@Ted - 8% 53/
CaRbT, - x4l - {9 - 4k - g oz

75) "Apple of one's eye" means-

v 1) extremely favorite
2) apple like eye



3) big eye
4) apple coloured eye

A : The apple of one's eye English Meaning: 1. a person of whom one is
extremely fond and proud; Bangla Meaning: TR did English Meaning: 2. one
that is highly cherished. Bangla Meaning: 2’1 38 91 3% Ex. Sentence: The little

girl was the apple of her grandmother's eye. Bangla Meaning: (20T (G B
AR B0 Fi e |

76) Q1A ==L "S5 XTHDI AP T 7 ?

AT : TS >R ST X7 . STqe, I, St 5133, afRf, b, Swiy, wed, o,
ORI, IARPT, I, AR, TEAR, AT, AR, AN, TR, YA, I 30517 |
AP, "Gl O] ST T SR . g, X5, HIferp, 25, 13, I1e, o1l Gfo |

77) AP 1 IS 52T AIACe] AR A (@372

) G
) SIS

) 23T
) (PTETd

N —

v

w

4

AT : AT 220 TG HCEH AT AT AT (3| 2300 AT 1T B ( - ) SN
AR SRS AT R @AER Tt aft 770 |

78) Choose the correct verb to complete the sentence.
You had better a doctor.

I 2 SNYIKNO had Q< A Verb A< Past Participle IG1

O had VT AF3 had better U< #iK Verb 1< base form I57< ; KT had better
W30 Modal Auxiliary Verb. @3d- You had better leave the country. (COT9K IR%
T OIS RT3 SICeT 1)



had better = 332 O You had better see a doctor. - T WL IPTH TITEFR GALH
I ]|

79) JAAFICAT O F9J R |

1) Death is better than insult.

v 2) Death is preferable to dishonour.
3) Dishonour is preferable than death.
4) Death is acceptable than dishonour .

40 : Preferable - more desirable or suitable; better; best.

oie, (PR AP T2 @RS preferable to IRTO |

preferable 9@ comparative quantifier Ite1 Q3 AT more 1 9 than IKTO [ 1|
O, 3P WK™ T - Death is preferable to dishonour.

80) ot@ AABC 13 %2 I tnf @ W3R b | IR 730 B9 @19 0 | GIHa AABC a3 CFawe

fatR 53a 23-

v 1) (1/2) ab sin6
2) (1/2) ab sin?6



3) ab cos6
4) (1/2) ab ab cos?6

T ; foca AABC A3 73 A7 v @ Q3% b | AR 7307 TG @14 | AABC O3 CFawe =
(1/2) ab sinB

81) IY K ST APRo AR @G ?

v 1) V3G + 93
2) VI + O
3) VI® + TRy
4) V& + 7

AT : H \3 GR]IGT UTO 4T ([ O3 AR L& 2 (T : G + O = I |

82) PO S 27 FAICS [T RATR 20201 W2 51e] 2

1) daey
v 2) bty
3) dbbe
4) Sorae

T : - AT OREOF Sbrew et o6 T3 R Rz Tizd 976 wed | - R Rz aizd
IR CFCA 579I6% RATNISK A19RF A2 51e7d | fold 257 svace g Rz efvecaq oot
IRAZ 3 AENRRATR fAEFACT AT IR | - 5p976% RTN9R OR (oK R ¢d 9 Fed
RT3 5|

83) He is working hard-

1
2
3
v 4

as he can shine in life
that he can shine in life

to shining in life

so that he can shine in life

N— N N N

A : He is working hard so that he can shine in life. - i PO AR PcRd
T T SR BFRS IS 2MME | TS T (AT SIRE T as T that IS G, OB F)
Gﬂ)ﬂ%ﬂm WK to 3 “It verb U3 base form I3 2T g 51) W9PId to - 2K
verb+ing IaIz O3 Wb\ |

84) CTCT IGHICA CAIG BTN AT FAH?

1) 8vafd
2) 8eufd



3) 8o
v 4)8x¢fd

AT : IR IGHIC BATTEAR SN 8¢ D | TROT v TR 203 PTG @RS
LTS ORI ITBIRT IIATDK SO T0d fodis BoTSER WCad (T 2 | QST e - -
5SS AT - FERTS - GTHARK AT - TR - IR SIATTE . SATHSIE |

85) JCTH AL 5 QISP A, JCOA CHFATH P I57 APP?

1) 51
2) 10m
3) 20n
v 4) 25n
AT : IO I 1 = 5 AFP
", (TR CHawe = 1r? 57 93D
=1 X (5)2
= 251 IV 9T

86) A T (TP AP QB IS H/A WA IR | 4 Ftd GFTA @6 P PN TG WX PACD
NRIA?

1) /8% WX

2) 5/58 WX
v 3)5/aTRA
4) 4 TS

AT 1 4G TR S T P 5/4 TLT PTG T (TP S T P 5/ Q4 x 4 WL I S T TP
a fcd B /(4 x ) W PTG = 5/4 T TG

87) sl IAaTY STP1 IR0 (IR A1 BT SCT?

v 1) Y950 FIE&
2) SO FI
3) S FIe
4) Y50 S

AT 1 INTA SR T Sbbd S Q (& (S3Ybr I ¢ () FAPTOR (SIGTHICPR
WGBTS SR AR | Ok oroT §af (EEdIY 31671 7% ForoTas fors1 aRpIay 91p<1 | a3
AR 2LPRFT 2R (AT TN 57 FAPTORI 310 ISR &F FRA| - IANTAATY ST R -
TTPR TS | - Sbbrid S AYFIR UL S FICE MORRIK - Y93Y HAER o (PPN TIPT

R RRTTRIGRR FTEA et IATATY JTPI BIF AT TFOT (| - S ST SO3 (PP fofd




AN TGOT 2MId B | - IAGAT FFI S9d>¢ e [ON 5HER TEF A5G B 11 7o |
RGO DO T ©f PRI G| - Y»d0 e IEAIY TP SO (@R F[FTR M | -
YOO FIE P! R Rmer i 8. f96. Tonfa om1d 3@d | - Y90w e vt f[pafimrerg
O 5. {15, Boffa omd IEd|

88) TIIA JT A% |

1) It is raining heavily.

2) It rains continuously.
v 3) It is raining cats and dogs.
4) It has been raining seriously.

TN : Cats and dogs (Idiom) = FIIE | JWACIR I8 T2 | = It is raining cats and
dogs.

89) 1A AT B2

v 1) AIRES JRATCR AT SIS |
2) wiHy AIREATCR 4T ST |
3) AIREIST IR LT ST |
4) RIETST AR AL ST |

AT = YT 2T TIRGHT, 1T QPTG TN TR, SO ¥ = HRAoT 1 AR O13 19
A X, AREOT ALAHCIR AT ST | A1 AR IO AT ST |

90) "BeIF X(FJ RIS X1 T ?

AT ; TP - T RPRAG X% Wy | SFgoyl g R 1=t . "Gy <o v =7 -
T TARG' A [AING ¥ - R Waw' a7 RS =7 - TaqeeR fore’ ad ok <= -
o ol @3 oo x= - af3o it 7 Rekio = - Taw' 7 [ReRo *=-Rare S ag
RIS =17 / Gy "oy a7 oo <=1- R

91) 81 133 BRI 397 ROTTHI & (I 60° X, 3B (PITP9O?

1) 60°
v 2)30°

3) 120°

4) 180°



A : - JCBK Q3 BIOR BRI TORTHTE I3 (@197 @ (@R QLS | - 084 IP3 BI2R B[
RORTAIT (e (1 68 PR Q| - J03T 93 BI2R \39F NI @er% @19 60° X, I8
@17 30°

92) Everybody should their old parents.

1) look at

v 2) look after
3) look up
4) look into

I : Look at - (cdT ; (Y ; OIPI\3 | look after somebody/something - T (37
QTS 1T 5 IO <711 Look up - @19 5 Y& @K 11 Look into - O°3 T
51018 W A look after X3 |

©
L
=P

WCOH CFaTe [ 539 @1a10?

AN : TSR GFawe = (1/2) x B x SwHol

94) /8, V/>Y, »/20 IR FYHT SfToP fbd 1D ?

EHEUIUEY(GR

9,0, QWA = »

8,54,20 IT L. = 8

/8, VY, »/20 1 TR BTGP = »/8

95) What a nice scenery it is!'- make it assertive.

1) It is very nice scenery.
v 2) It is a very nice scenery

3) It is a great scenery.

4) This scenery is nice



AT : what/how A3 #1fRACS adjective R #iF very IG7 W3R noun 77X great IG7|
what I a G711 Source: Master Guide

96) ST T IA 1 RFR Y 4P I AP I -

QAN+ TR AT SR AI9RT QK TR T, TR DL I A1 R TR 9P I A |
QISR (ROTY) - 5100 X1 - &P 20N = TR+ WY« - AT ISR 4R, - IRPY AR M, -
GPICAT X% T XA RO WY IR | - 1T |

97) 53 P4 (u 1a FoB1ya “<1maan arr?

M 2 5 TP A TOb1id 6! #masn Iy | - fob1d 6 5t 5, 91 <IRIER e,
TPT 3OV F1aT fRaer e | - FOTIRA f 20T IO (ol WL 167 s 2o ST
A | - ATTS \3 BIETATS GHIT \3 TPIATICHIS (AP SR Wi @ 780 71 wonsfiio 2w
o fobTfaa 6 ol 2| - fobifaa fB-2 \3 fobifad f$-v qaaciz A | - Fioamm q fovifad
5’7 Wl RSt Q151 (2 00T ), P RIpTA, 4151-2paicsw svastt, 2offd, BEE1s 27 932 O5)
I (R PIRRICR FFON3 @1 (T | - fov1iad {7 O Wer e Fiag g s, o
3G A7 T AT 1T X AW | - <RI FO51fAa {77 517H1 bro X1k @R ot 310 25w
SRARE (AP | O TR JT ST, 1G4, Tl 3051 TP /I, TR, G 16d, TP3, 5P
FfeTem 257 fobifaa f6 omaw Iy

98) TR I (A3 IFF BN ATH-

AT+ - R TS RETITT 9B Tt STemIER ard | WeRmeE, RSO, J1R, ST
SO ARSI IRISTPIA P4 ST |



TN : » ORI I QAOOCE, 57 I AT — 01T BT QfsIe 67| » 2711 fResrss 72 a1
oI 3K 1 R 71903 FAfeTo T QTG 570l 1Py 519 IR0 O QNS0 A1y AT | » QoD
PR 0516 TR RIS 3R, \3, 8, WA, ARG, IR, DT 2GR QR QST SRS
31 AT AP | (- - ORI I3 QA0 58 Jfa A0ofd | - f5f sie g 391 - 707 3201 3T 513
717 ~1co iR | - O T 20 769 Jfa A | - @9 TG P, W01 W ooy B |

100) Cock and bull story' means-

1
2
v 3
4

a fable

a tragedy

a false story

a wonderful story

S~— N N N

T : Cock and bull story English Meaning: an implausible story used as an
explanation or excuse. @¥e, a false story. Bangla Meaning: QI 5§ / Qe
S511 EX. Sentence: Nobody believes this cock and bull story about the sacking
incident Bangla Meaning: P93 IAATE T4 T S s151 Ry o

TR IGR 2%d WK “WPF1 fd I [Fast ace oaRsis a3 fics fof&s T3 live.hellobcs.com
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